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Question Number : 182 Question Id : 640653588701 Question Type : MCQ Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Correct Marks : 0
Question Label : Multiple Choice Question

THIS IS QUESTION PAPER FOR THE SUBJECT "DIPLOMA LEVEL : PROGRAMMING CONCEPTS
USING JAVA (COMPUTER BASED EXAM)"

ARE YOU SURE YOU HAVE TO WRITE EXAM FOR THIS SUBJECT?
CROSS CHECK YOUR HALL TICKET TO CONFIRM THE SUBJECTS TO BE WRITTEN.

(IF IT IS NOT THE CORRECT SUBJECT, PLS CHECK THE SECTION AT THE TOP FOR THE SUBJECTS
REGISTERED BY YOU)

Options :
6406531963474, ¥ YES

6406531963475. * NO

Sub-Section Number : 2
Sub-Section Id : 64065384991
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 183 Question Id : 640653588702 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 3

Question Label : Multiple Choice Question



Consider the Java code given below.

interface Computable{
void compute();
}
class Phone implements Computable{
public void compute() {
System.out.println("Phone compute");

}

}

class Laptop implements Computable{
public void compute() {

System.out.println("Laptop compute");

}
}

class DeviceList{
private Object[] cArr = {new Phone(), new Laptop()};
public void getCompute(){
for(int i = 0; 1 < cArr.length; i++){
//LINE 1
}

}
public class Test{

public static veid main(String[] args) {
Devicelist dlList = new Devicelist();
dList.getCompute() ;

Identafy the appropriate option to fill in place of LINE 1 such that the output 1s

Phone compute
Laptop compute

Options:

6406531963476, % CATT[il.compute();

6406531963477, « ¢ (Computable)cArr[i]).compute();

6406531963478, % ¢ (Phone)cArr[i]).compute();



6406531963479, % ¢ (Laptop)cArr[i]).compute();

Question Number : 184 Question Id : 640653588703 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 3

Question Label : Multiple Choice Question

Consider the Java code given below.

public class Example{
public <T extends Comparable> void sortArray(T[] obj){
// Sorts obj

}
public <T> void elementDisplay(T[] arr){
// Displays the elements of arr

¥

public <T extends Number> T sum(List<T> 1st){
// Returns the sum of elements of 1st

}
:

How does class Example look after type erasure?
Options:

public class Example{

public void sortArray(Object[] obj){
// Sorts obj

}

public void elementDisplay(Object[] arr){
// Displays the elements of arr

}

public Object sum(List<Object> 1lst){
// Returns the sum of elements of 1st

t

6406531963480. #

6406531963481. ¥



public class Example{

public void sortArray(Comparable[] obj){
// Sorts obj

+

public void elementDisplay(Object[] arr){
// Displays the elements of arr

}

public Number sum(List<Number> 1st){
// Return the sum of elements of 1st

}

public class Example{
public void sortArray(Comparable[] obj){
// Sorts obj
}
public void elementDisplay(Object[] arr){
// Displays the elements of arr

}
public T sum(List<Number> 1st){
// Return the sum of elements of 1st

¥
6406531963482, % &

public class Exampleq{
public void sortArray(T[] obj){
// Sorts obj
}
public void elementDisplay(T[] arr){
// Displays the elements of arr

+
public T sum(List<T> 1lst){
// Beturn the sum of elements of 1st

}

6406531963483, %

Question Number : 185 Question Id : 640653588705 Question Type : MCQ Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Correct Marks : 3

Question Label : Multiple Choice Question

Consider the code given below

interface Shape{
public abstract int area();

}

class Square implements Shape, Cloneableq{

int side;

public Square(int s){
side = s;

}

public int area(){
return side * side;

}

public Square clone() throws CloneNotSupportedException{
return (Square)super.clone();

1
}
public class Testq
public static void main(String[] args){
Square s1 = new Square(5);

try{

Square s2 = sl.clone();

g8l .side = 3:

System.out.print(sl.area() + s2.area());
ky

catch(CloneNotSupportedException e){
System.out.println("Cloning not supported");

¥
5
i

What will the output be?

Options :

6406531963488. # 18
6406531963489. # 50
6406531963490. ¥ 34

6406531963491. ¥ Cloning not supported



Question Number : 186 Question Id : 640653588709 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 3

Question Label : Multiple Choice Question

Consider the Java code given below.

class Arithmetic{

public static void div(int a, int b) throws Exception {
System.out.println(a/b);

J
public static void getResult() throws Exception {
try {
div(10, 0);
div{12, 6);
} catch(Exception e) {
System.out.println("caught in getResult");
throw e:
Iy
}

}
public class ExceptionTest {

public static void main(String[] args) throws Throwable {
try {
Arithmetic.getResult();
} catch(Exception e) {
System.out.println("caught in main");

¥

I
Choose the correct option.
Options :

This program generates the output:
caught in main
6406531963504, * caught in getResult

6406531963505. #



This program generates the output:
caught in getResult

caught in main
2

This program generates the output:

caught in getResult
2

6406531963506, % C2UgRt 1n main

6406531963507, % This program terminates abnormally due to unhandled exceptions.

This program generates the output:

caught in getResult

6406531963508, v ©2ught in main

Question Number : 187 Question Id : 640653588710 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 3

Question Label : Multiple Choice Question



Consider the Java code given below.

class SelectionException extends Exception{
public SelectionException(String str){
super (str) ;
}
}
class Player{
private 3tring name;
private int runs;
private double strikerate;
//Constructor to initialize name, runs and strikerate
public void selection() throws SelectionException{
System.out.println("Hello "+this.name);
if(this.runs > 300) {

if(this.strikerate > 150) {
System.out.println("You have selected in to the team");

}
else {
throw new SelectionException("You have less strike rate");
}
}
else {
throw new SelectionException("You have scored less rums");
}

¥

public class UserExceptionTest {
public static void main(String[] args) {
Player pi=new Player("Dhoni", 340, 98.9);
Player p2=new Player("Russel", 295, 100.8);

try {
pl.selection();
p2.selection();

¥

catch(SelectionException e){
System.out.println(e.getMessage());

}
¥

4

What will the output be?

Options :

Hello Dhoni

6406531963509.*‘ca"';'Tﬂ1L1 have less strike rate

Hello Russel
You have less strike rate

6406531963510, % You have scored less runs



Hello Dhoni
You have less strike rate

Hello Russel
You have less strike rate

~ You have scored less runs
6406531963511. #

Hello Dhoni
You have less strike rate

Hello Russel

6406531963512, % You have scored less runs

Question Number : 188 Question Id : 640653588713 Question Type : MCQ Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Correct Marks : 3

Question Label : Multiple Choice Question



Consider the Java code given below.

import java.util.#*;
class Student{
String name;
double cgpa;
//Constructor to initialize name and cgpa
public String toString() {
return name;

}
}

public class IteratorTest {
public static boolean property(double x) {
if(x < 7.0)
return false;
return true;

}
public static List<Student> getFinalList(List<Student> sList){
Iterator<Student> it = sList.iterator();
while (it.hasNext()) {
Student s = it.next();
if (!property(s.cgpa))
//LINE 1

return sList;

}

public static void main(String[] args) {
var list = new ArrayList<Student>();
list.add(new Student("Sandeep", 9.78));
list.add(new Student ("Navadeep", 5.78));
list.add(new Student("Randeep", 7.0));
list.add(new Student("Gunadeep", 7.0));
System.out.println(getFinalList(list));

Choose the correct option to be filled in place of LINE 1 so that the output is:

[Sandeep, Randeep, Gunadeep]
Options :

6406531963522, % it.remove(s)

6406531963523, ¥ it .remove()



6406531963524, % sList.remove()

6406531963525, W% slist .I'EIHDVE(S)

Question Number : 189 Question Id : 640653588714 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 3

Question Label : Multiple Choice Question

Consider the Java code given below.

class UPIUser{
private String name, phone;
public UPIUser(String n, String p) {
this.name = n;
this.phone = p;

}

public String getUpiID() {
assert name != null : "Invalid name": //LINE 1
assert phone.length() == 10 :"Should be 10 digits" ; //LINE 2
assert phone != null :"Invalid phone number" ; //LINE 3
return phone+"@ybl";

}

}

public class AssertionTest {
public static void main(String[] args) {
UPIUser ul = new UPIUser("", "730007311");
UPIUser u2 = new UPIUser("Sudarshan", null);
System.out.println(ul.getUpiID()); // LINE 4
System.out.println(u2.getUpiID()); // LINE &

Choose the correct option when the program is executed as:
java -ea AssertionTest

Options :

6406531963526, % LINE 1 throws AssertionError when LINE 4 is executed.



6406531963527, LINE 2 throws AssertionError when LINE 4 is executed.

6406531963528, ¥ LINE 2 throws Assertionkrror when LINE 5 is executed.

6406531963529 % LINE 3 throws AssertionError when LINE 5 is executed.

Question Number : 190 Question Id : 640653588715 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 3

Question Label : Multiple Choice Question



Consider the Java code given below.

import java.util.¥;
public class MapTest{
public static void printPlayers(Map<String, Integer> m) {
var mapl = new LinkedHashMap<String, Integer>();
var map2 = new TreeMap<String, Integer>();
String[] players = {"Buttler", "Roy", "Dhoni"};
for(String p: players) {
mapl.put(p, m.getOrDefault(p, 0));
map2.put(p, m.getOrDefault(p, 0));
}
System.out.println(mapl) ;
System.out.println(map2);
}
public static void main(String[] args) {
var map = new HashMap<String, Integer>();
map.put ("Roy", 78);
map.put ("Surya", 56);
map.put ("Buttler", 14);
printPlayers(map) ;

What will the output be?
You may make use of the method description given helow.
getOrDefault(Object key, V defaultValue): Returns the value to which the specified

key 1s mapped. or defaultValue if this map contains no mapping for the key.

Options :

{Buttler=14, Dhoni=0, Roy=78}
6406531963530, % Buttler=14, Roy=78, Dhoni=0}

{Buttler=14, Roy=78, Dhoni=0, Surya=56}

6406531963531, % Buttler=14, Dhoni=0, Roy=78, Surya=56}

{Buttler=14, Roy=78, Dhoni=0}
6406531963532_@?{Buttler=14, Dhoni=0, Roy=78}



{Buttler=14, Roy=78, Dhoni=0, Surya=0}
6406531963533, # {Buttler=14, Dhoni=0, Roy=78, Surya=0}

Question Number : 191 Question Id : 640653588716 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 3

Question Label : Multiple Choice Question



Consider the Java code given below that checks whether the input number is a palindrome or not.

import java.util.¥;
public class QTest {
public static boolean checkPalindrome(Deque<Character> q) {
//CODE BLOCK
return q.isEmpty();
}
public static void main(String[] args) {
String numi = "34543";
String num? = "12312";
Deque<Character> ql = new ArrayDeque<Character>();
Deque<Character> q2 = new ArrayDeque<Character>();
for(int 1 =0 :1 < 5; i+4) {
ql.add(nuni.charAt(i));
q2.add (num?. charAt (1)) ;
}
System.out.println(checkPalindrome(ql));
System.out.println(checkPalindrome(q2));

}

Choose the correct option(s) to fill in place of CODE BLOCK so that the output is:

true
false

You may make use of the descriptions of the methods given below. These are methods
inside type Deque.

polllast(): Retrieves and removes the last element of this deque, or returns null if
this deque is empty.

poll(): Retrieves and removes the head of the queue represented by this deque (in
other words, the first element of this deque), or returns null if this deque is empty.
1sEmpty() : Returns true if this deque contains no elements.

Options :

if(q.size() > 0) {
if(q.poll() != q.polllast())
break;

6406531963534, # ¥

6406531963535. #



while(q.size() < 0) {
if(q.poll() != q.polllast())
break;

while(q.size() > 0) {
if(q.poll() != g.pollLast())
break;

6406531963536. ¥ }

if(q.size() > 0) {
while(q.poll() != q.pollLast())

break:
I;
6406531963537, #
Sub-Section Number : 3
Sub-Section Id : 64065384992
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 192 Question Id : 640653588704 Question Type : MSQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 4 Max. Selectable Options : 0

Question Label : Multiple Select Question

Consider the Java code given below that prints the salaries of employees and managers.

From among the options, identify the appropriate function header for function

printSalary that takes as input a list of employees and managers, and prints their
salaries.



import java.util.=*;
class Employee{
double salary;
public Employee(double s){
galary = s;
}
public double getSalary(){
return salary;

}

k
class Manager extends Employeeq

public Manager(double s){
super (s) ;

}
}

class Test {
// FUNCTION HEADER for function printSalary
{
for(int i = 0; i < lst.size(); i++){
System.out.println(lst.get(i).getSalary());
+
s

public static void main(String[] args) {
List<Employee> e = new ArrayList<Employee>();
e.add(new Employee(12000));
e.add(new Employee(2000));
List<Manager> m = new ArraylList<Manager>();
m.add (new Manager (13000));
m.add (new Manager (1200));
printSalary(e);
printSalary(m) ;

}

Choose the correct option(s).

Options :

6406531963484, % public static void printSalary(List<Employee> lst)

6406531963485, ¥ public static <T extends Employee> void printSalary(List<T> lst)

6406531963486, ¢ public static void printSalary(List<? extends Employee> lst)



6406531963487, # public static void printSalary(List<Manager> lst)

Question Number : 193 Question Id : 640653588706 Question Type : MSQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 4 Max. Selectable Options : 0

Question Label : Multiple Select Question

Consider the Java code given below that prints the highest payment charge among a set
of given PaymentApp objects. From among the options, identify the appropriate function
header for function printHighCharge that takes as input an array of PaymentApp objects
and prints the highest charge.

import java.util.*;
interface PaymentApp {
public abstract double paymentCharges();
F
class XPay implements PaymentApp{
double payAmount;
// Constructor
// method paymentCharges() that returns 5}, of payAmount
}
class YPay extends XPay{
// Constructor
// method paymentCharges() that returns 6}, of payAmount
45
public class Test{
// LINE 1: FUNCTION HEADER
{
// invokes method paymentCharges()
// to print the value of highest payment charge
 ;
public static void main(String[] args) {
PaymentApp[] p = {new XPay(1200), new YPay(1200) };
printHighCharge (p) ;

1

Choose the correct option(s).



Options :

6406531963492, % public static void printHighCharge(<?> p)

6406531963493, ¢ public static <T extends PaymentApp> void printHighCharge(T[] p)

6406531963494, % public static <T extends XPay> void printHighCharge(T[] p)

6406531963495~w‘pub1ic static void printHighCharge (Paymentdpp[] p)

Question Number : 194 Question Id : 640653588707 Question Type : MSQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 4 Max. Selectable Options : 0

Question Label : Multiple Select Question



Consider the Java code given below that should print the names of teachers whose
experience is between 2 and 4 (both inclusive).

import java.util.*;
class Teacher{
String name;
double experience;
public Teacher(String name, double exp) {
this.name = name:
this.experience = exp;

}

public class Stream {
public static void main(String[] args) {

List<Teacher> tList = new ArraylList<Teacher>();
tList.add(new Teacher("Ti", 3.5)):
tList.add(new Teacher("T2", 4.2));
tList.add(new Teacher("T3", 2.6)):
tList.add(new Teacher("T4", 3.4)):
tList.add(new Teacher("T5", 1.5)):

//CODE BLOCK

}

Choose the correct option(s) to fill in place of CODE BLOCK to obtain the right answer.
Options:

tList.stream()
.map(i -> i.experience >= 2 && 1i.experience <= 4)

6406531963496, % .forEach(t->System.out.println(t.name));

tList.stream()
filter(i -> i.experience >= 2 && i.experience <= 4)

6406531963497, v .forEach(t->System.out.println(t.name));

tList.stream()
filter(i -> i.experience >= 2)
.filter(i —> i.experience <= 4)

6406531963498, v .forEach(t->System.out.println(t.name)) ;

6406531963499. #



tList.stream()
.filter(i -> i.experience >= 2)
.map(i -> i.experience <= 4)
.forEach(t->System.out.println(t.name)) ;

Sub-Section Number : 4
Sub-Section Id : 64065384993
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 195 Question Id : 640653588711 Question Type : MSQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 3 Max. Selectable Options : 0

Question Label : Multiple Select Question



Consider the three Java programs given below.
A.java:

package packl;
import java.util.List;
public class A {
private void getMessage() { //METHOD-1
System.out.println("getMessage with private");

}
public void getMessage(int x) { //METHOD-2

System.out.println("getMessage with public");

}
void getMessage(String y) { //METHOD-3
System.out.println("getMessage with default");

}
protected void getMessage(List<String> z) { //METHOD-4

System.out.println("getMessage with protected");

}
¥

B.java:
package packl;

public class B {
}

C.java:
package pack2;
import packl.A;

public class C extends A{
}

Choose the correct option with respect to METHODs 1, 2. 3, and 4 inside class A.
Options :

6406531963513, # Class B can access METHODs 1, 2 and 4

6406531963514, % Class C can access METHODs 2, 3 and 4

6406531963515, % Class B and C both can access all the four methods.



(Class B can access METHODs 2, 3 and 4
6406531963516.

Class C can access METHODs 2, 4
6406531963517. ¢

Sub-Section Number : 5
Sub-Section Id : 64065384994
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 196 Question Id : 640653588708 Question Type : MSQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 4 Max. Selectable Options : 0

Question Label : Multiple Select Question

From among the options, choose the code segment(s) that give(s) the same output as is
given by the Java code inside the CODE BLOCK.

import java.util.*;
import java.util.stream.*;

public class Test{
public static void main(String[] args){

//CODE BLOCK begins here

Stream.iterate(1, n -> n+l)
.map(n => n * n)
1imit(4)
.forEach(i -> System.out.println(i));

//CODE BLOCK ends here

}
Options :

Stream.iterate(l, n -> n+1)
.map(n -> n * n)
.filter(n -> n <= 4)
6406531963500, % .forEach(i -> System.out.println(i));



Stream.iterate(l, n -=> n <= 4, n -> n+1)
.map(n -=> n * n)

.forEach(i -> System.out.println(i));
6406531963501. ¥

Stream.iterate(1, n -> n+1)
.takeWhile(n -> n <= 4)
.map(n => n * n)

.forEach(i -> System.out.println(i));
6406531963502, ¢

Stream.iterate(l, n -> n+1)
.map(n -> n * n)
.dropWhile(n -> n <= 16)

6406531963503, % .forEach(i -> System.out.println(i));

Sub-Section Number : 6
Sub-Section Id : 64065384995
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 197 Question Id : 640653588712 Question Type : MCQ Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Correct Marks : 4

Question Label : Multiple Choice Question



Consider the Java code given below.

import java.util.*;
public class SetExample {
public static void main(String[] args) {
LinkedList<String> list=new LinkedList<String>();
list.add("Python");
list.add("Programming") ;
list.add("Java");
list.add("Programming") ;
Set<String> setl=new LinkedHashSet<String>();
Set<String> set2=new TreeSet<String>();
for(String str:list) {
setl.add(str);
set2.add(str);
¥
for(String str:setl) {
System.out.print (str+" ");
¥
System.out.println();
for(String str:set2) {
System.out.print(str+" ");

}
}

What will the output be?
Options :

Java Programming Python

6406531963518, % Cython Programming Java

Python Programming Java

Java Programming Python
6406531963519, ¢ 5 =

Python Programming Programming Java

6406531963520, % Fova Tregramming Tragrammng. Eython

Java Programming Programming Python

6406531963521, % ython Programming Programming Java
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Question Number : 198 Question Id : 640653588717 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 0

Question Label : Multiple Choice Question

THIS IS QUESTION PAPER FOR THE SUBJECT "DIPLOMA LEVEL : MACHINE LEARNING PRACTICE
(COMPUTER BASED EXAM) "

ARE YOU SURE YOU HAVE TO WRITE EXAM FOR THIS SUBJECT?



